Assessment Questions (These are also on the website. I include them so you can copy and paste into your standard test format.)
(1) Fossils are:
[image: image1.wmf]a) preserved bones, teeth or shells from long ago
[image: image2.wmf]b) preserved tracks, burrows or impressions from long ago
[image: image3.wmf]c) preserved candy wrappers, soft drink cans and baseball caps from long ago
[image: image4.wmf]d) both a and b are correct 

(2) Which one would be most likely to fossilize?

[image: image5.wmf]a) a caterpillar
[image: image6.wmf]b) a mammoth
[image: image7.wmf]c) a rock
[image: image8.wmf]d) sediment 

 (3) Why is a mammoth more likely to fossilize than a caterpillar?
[image: image9.wmf]a) large organisms fossilize better
[image: image10.wmf]b) hard parts like bones and teeth are more likely to be preserved
[image: image11.wmf]c) soft tissues fossilize well
[image: image12.wmf]d) undigested food in the stomach helps the fossilization process 

 (4) Rapid burial is important in the fossilization process because:

[image: image13.wmf]a) it causes erosion
[image: image14.wmf]b) it protects a dead organism from compression
[image: image15.wmf]c) it protects a dead organism from physical and biological destruction
[image: image16.wmf]d) it leaves an impression 

 (5) Fossils are more likely to be found in:

[image: image17.wmf]a) igneous rock
[image: image18.wmf]b) sedimentary rock
[image: image19.wmf]c) metamorphic rock
[image: image20.wmf]d) all of the above 

 (6) Few organisms ever become fossils because:

[image: image21.wmf]a) they die in an environment where fossils rarely form
[image: image22.wmf]b) they are destroyed by physical and biological factors after death
[image: image23.wmf]c) they are made of soft body structures that do not fossilize well
[image: image24.wmf]d) all of the above 

 (7) BONUS: (and be careful; this one is a bit tricky!) Of the tiny percentage of organisms that ever become fossils, most are never found because: 

[image: image25.wmf]a) they are crushed, eroded or melted by geologic processes
[image: image26.wmf]b) they are eaten by scavengers
[image: image27.wmf]c) they remain hidden in the Earth where we can’t find them
[image: image28.wmf]d) both a and c are correct
[image: image29.wmf]e) both b and c are correct
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